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Note :

(i) All quétionsin fbth the sections are compul sory,

(i) uestions are indicated against each.

(iid jons No. 1 and 13 are very short-answer questions carrying 1 mark for

h part. They are required to be answered in one sentence each.

[V)¥ QuestionsNo. 2-5 and 14-17 are short-answer questionscarrying 3 markseach.
Answer s to them should normally not exceed 60 words each.

(v) QuestionsNo. 6-9 and 18-21 are also short-answer questions carrying 4 marks
each. Answer's to them should normally not exceed 70 words each.
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Questions No. 10-12 and 22-24 are long-answer questions carrying 6 marks
each. Answers to them should normally not exceed 100 words each.

Answers should be brief and to the point and the above word limits should be
adhered to asfar as possible.

All parts of a question should be answered at one place.
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Section A

gus J

the following questions :
Why does an economic problem arise ?
Define opportunity cost.
What does a rightward shift of production possibility curve indicate ?

Define microeconomics.

1x4
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good. 3

2. Explain the effect of increase in income of the consumer :Ggand for a

SUAIRT B AT H ghs & I N AN W UHE w IR |

3. State three causes of increase in supply. O 3
o & gfg & @9 FROT FaET) &

4. Explain the relation between marg fal cost and average cost.

E<Te1 s M L ARG | R 1 < MG Bl Y AR |

5. Explain produc:;gli r um with the help of a diagram.
T @I IEH & GJAT bl ARAT HINT |
L 4

didates only in lieu of Q. No. 5
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xplain the meaning and conditions of producer’s equilibrium.
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6. A consumer buys 40 units of a good at a price of Rs. 3 per unit. When price
rises to Rs. 4 per unit he buys 30 units. Calculate price elasticity of demand
by the total expenditure method. 4
OR
A consumer buys 80 units of a good at a price of Rs. 5 per unit. Suppose price
elasticity of demand is (-)2. At what price will he buy 64 units ?

UH SUNERT UH aE B 3 6. U IHEE W 40 ITHEEA @led g1 9

FHET 95 K 4 5. Yid ITHE B Al & ol 98 30 IHAT @ledr
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rerar
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7. Give meaning of:
()  production function
(i)  Supply

(i) revenue, and
(iv) cost

0 .\fb'

8. I ‘total variable cost’ and ‘total cost’ from the following cost schedule
a *m whose fixed costs are Rs. 10. 4

Output (units) : 1 2 3 4

Marginal cost (Rs.) : 6 5 4 6

58/1/1 4
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price will be reached. Use diagram. 4

9. At a given price there is excess demand for a good. Explain how@ jlibrium
Q%aﬁaﬁﬁ@aﬁwwmw%lﬁgﬁ?m%ﬁwﬁa@m@m|
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For Blind Candidates only in lieu of Q. No, i O

What is meant by ‘excess de n fo a good ? Explain the changes which
will bring about equilibrium

UH I e A g2 S uRadHl @ A Hie S
IR H FJe cthcl

10. Distinguish

twee

(@ Indi emand and market demand.
in demand’ and ‘change in quantity demanded’
JRCECHIE L
AT SR FER AT
(b) @i uRad SR ‘Wi @ "Er § qRad

11. State the phases of the law of variable proportions in terms of total physical
product. Use diagram. 6
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State the phases of the law of variable proportions in terms p ysical

product and marginal physical product.
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12. Explain the following features of perfect Q :
() Large number of buyers and seI§
(i) Homogeneous products

Explain the following : @
(i) ‘Freeentry and % e of perfect competition,

(i) ‘Differentiate ‘g‘ ug s’ feature of monopolistic competition.

SEEI
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Section B
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13. Answer the following questions : 1x4
(i) Define macroeconomics.
(i) Give two examples of macroeconomic studies.

(i) What does balance of payments account of a country re :
(iv) Name the items included in balance of trade accouno

ffaiea gei & ST QT .
(i) wufte srfgmer @ gfwmr ST | @

(i) wafte s srmat @& @ SeEe O

(i) ©F T & YOu dqad @ | GEd SN

(iv) =R 9w @ § fHa @l [ & M Faey |

14. Calculate ‘private inco W following data :
(Rs. crores)
(i) National de@ t 30

(i) Gro ion@l product at market price 400
(iii) transfers from government 20
et indirect taxes 40
Net current transfers from the rest of the world (-) 10
(vi) Net domestic product at factor cost accruing to government 50
(vii) Consumption of fixed capital 70 3
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15.

16.

17.

58/1/1

Fefciiad aihel & ‘TSt o @1 GReha HiT:

(®Tz %)
() T ®=T W AN 30
(i) O g8 W dhd TLE IR 400
(i) wFR ¥ YR ewIRT 20

(iv) ™ea suTs &<
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2
A Rs. 200 crore increase in investment Ieads@ise In national income by
Rs. 1000 crores. Find out marginal prope nsume.
fasr & 200 O 5. @ IE F TEA ao‘agaa%q@‘sﬁ'cﬁ%
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Give meanings of : 3
()  involuntary unempl y@

(i)  full employm %

(iii)) under empl@ equilibrium

Give three sources each of demand and supply of foreign exchange.
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18. Give meaning of money. Explain the ‘store of value’ function of money.

OR
What is ‘barter’? Explain ‘standard of deferred payment’ function of
money.
A R o LU e B (2 M o O M D DR e |

STEr

19. Explain the’acceptance of deposits'function of commercia@
T depi B ST TER B BT B IR |

20. Distinguish between ‘revenue receipt’ a re elpt and give two
examples of each.

RUE S T el 1 R M S 9% & aI-al IarelT

G

21. What is ‘fiscal deficit’ ? Wjiia implications ?
TABYG-ART T Bl % gaE B 87

22. Calculate natlon me and gross national disposable income from the
following da P

(Rs. crores)

ent transfers by government 15

i) Ivate final consumption expenditure 400
1Y) Net current transfers from the rest of the world 20
(iv) Government final consumption expenditure 100
(v) Net factor income from abroad (-) 10
58/1/1 9 [P.T.O.



23.

58/1/1

(vi) Net domestic capital formation 80

(vii) Consumption of fixed capital 50
(viii) Net exports 40
(ix) Netindirect taxes 60

frfafad ofidsl & TSET o IR Oha TS YA 3T &l

() ¥R R Yook &I 15
2

(i) Frcft sifem sudi = @ 400

(i) 99 fagg ¥ ollaR s&raror 20

(iv) TR i Suqm &g & 100

(v) feui & Maa & o () 10
(vi) fHaer < goir ﬁﬂfﬂT 80
(vii) st 50
(viii) faa fafa \ * 40
(ix) Faw@ 319?1&{@ 60
Explad roduction method of estimating national income.
OR
X the income method of estimating national income.

T Y & Ided fafr 99smsu |
Tgar
T ST 999 0 o fafr 99smsu |
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24. Explain the problem of ‘excess demand’ in an economy with the dfelp
diagram. Explain the role of bank rate in cprrecting it.
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For Blind Candidates only in lieu of Q. No. 24

Faa gftedd Tienfidt & fm us Wenm 24% wme W O
Explain the meaning of’excess demand’ and ‘deficient dem@ n economy.
Explain therole of bank rate in correcting excess d d.e

T
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